A71717] 11 (20128Pd %= 287] FZEIAD)

2 3AA7]
FaL(10) AA fF=7]eA

S

o3 244 3}
14 ek

9]

ks

=3

el o

= ojm

7114

o
T

ool (5) AA

o 77t

= A

e},

3| AR} A 7F WA
(1) 2ol ¢
(2) 182

ki3

skA1 2. (10)

HHH o 2 ot

F 7=}

)

Bo
No

ol=

3

27148 S 284 2(15)

bl @

0, 30, 60% Al Z-5-ol 3
Fmax \—’4‘_]—1 7]—13)

Z] 0]
b R

7)Ao Ao

(17l 9

ol frE Ad-

1
L

14 ool Woix

FE=d57]7F A7 vl 3§

3.

aHAl 2. (10)

g

1A 5}

G s

SRR

oA &

=
=

of o} x4t

3%

g

7}3) =

R=S
o

SRME

4.

i

A4 sl ZmAol

(2) (D¥ =2l 7=




